UTMS 2006-7

April 20, 2006

Sixth order methods of Kusuoka approximation

by

Takehiro Fujiwara



# UNIVERSITY OF TOKYO

GRADUATE SCHOOL OF MATHEMATICAL SCIENCES KOMABA, TOKYO, JAPAN

# SIXTH ORDER METHODS OF KUSUOKA APPROXIMATION

#### TAKEHIRO FUJIWARA

**Abstract** The author presents high-speed (sixth-order) methods to approximate expectations of diffusion processes, one of the most important values in mathematical finance, in the spirit of Kusuoka approximation.

## 1. INTRODUCTION

Let  $(\Omega, \mathcal{F}, P)$  be a probability space and  $B = (B^1, \ldots, B^d)$  be a *d*-dimensional Brownian motion. Let  $B_t^0 := t$ ,  $t \in [0, \infty)$  and  $V_0, \ldots, V_d \in C_b^{\infty}(\mathbf{R}^N; \mathbf{R}^N)$ . Here  $C_b^{\infty}(\mathbf{R}^N; \mathbf{R}^n)$  denotes the space of  $\mathbf{R}^n$ -valued smooth functions defined in  $\mathbf{R}^N$  whose derivatives of any order are bounded. We regard an element in  $C_b^{\infty}(\mathbf{R}^N; \mathbf{R}^N)$  as a vector field on  $\mathbf{R}^N$ . Now we consider a Stratonovich stochastic differential equation

$$\begin{cases} dX(t,x) = \sum_{i=0}^{d} V_i(X(t,x)) \circ dB_t^i, \\ X(0,x) = x. \end{cases}$$

Let  $L_{\infty}(\mathbf{R}^N)$  denote the set of bounded measurable functions defined in  $\mathbf{R}^N$ . Let us define a norm  $\|\cdot\|_{\infty}$  on  $L_{\infty}(\mathbf{R}^N)$  by

$$||f||_{\infty} := \sup_{x \in \mathbf{R}^N} |f(x)|.$$

Let us define an operator  $P_T$  for  $T \ge 0$  on  $L_{\infty}(\mathbf{R}^N)$  by

$$P_T g(x) := E[g(X(T, x))], \ g \in L_{\infty}(\mathbf{R}^N), \ x \in \mathbf{R}^N.$$

We often need to calculate  $P_T g(x)$  in mathematical finance problems [11, 12]. Hence it is important to construct high-speed methods to approximate  $P_T g(x)$ .

Now we introduce a criterion for the speed of methods to approximate  $P_T$ . Let  $\{Q_n\}_{n \in \mathbb{N}}$  be a family of bounded linear operators on  $L_{\infty}(\mathbb{R}^N)$  which approximates  $P_T$ . If there exists a constant C > 0 and  $k \in \mathbb{N}$  such that

(1.1) 
$$\|(P_T - Q_n)g\|_{\infty} \le \frac{C}{n^k}$$

for any  $n \in \mathbf{N}$ , then the method constructing  $\{Q_n\}_{n \in \mathbf{N}}$  is called a k-th order methods to approximate  $P_T$ . Clearly from (1.1), we can expect faster approximation for higher order methods. Here we consider the orders of some known approximation methods. As in the Euler-Maruyama method, the most common approximation method, the method is first-order when the test function  $g \in C_b^{\infty}(\mathbf{R}^N)$  or  $g \in L_{\infty}(\mathbf{R}^N)$  with the vector fields satisfying the Hörmander condition [2, 5, 6]. Next consider the order of the Ninomiya-Victoir method, which is one of the methods of Kusuoka approximation. This is third-order when the test function  $g \in C_b^{\infty}(\mathbf{R}^N)$  or  $g \in L_{\infty}(\mathbf{R}^N)$  with the vector fields satisfying a condition that is weaker than the Hörmander condition [11]. With

Takehiro Fujiwara: Graduate School of Mathematical Sciences, The University of Tokyo.

this condition, there are also second-order methods [10, 12]. In this paper, we present sixth-order methods.

## 2. Algebraic Calculation

Let R be a noncommutative algebra,  $d \in \mathbf{N}$  and  $x, y, x_i \in R$  for  $i \in \{0, \ldots, d\}$ . Then we define  $\prod_{i=0}^{d} x_i$ ,  $\prod_{i=0}^{d} x_i$  and  $x^d$  by

$$\prod_{i=0}^{\widehat{d}} x_i := x_0 \cdots x_d, \ \prod_{i=0}^{\widehat{d}} x_i := x_d \cdots x_0, \ x^d := \underbrace{x \cdots x}_d.$$

**Definition 2.1.** Let  $A(d) := \{A_0, \ldots, A_d\}$  be an alphabet,  $\mathbf{R}\langle A(d) \rangle$  be the **R**-algebra of noncommutative polynomials on A(d) and  $\mathbf{R}\langle\langle A(d) \rangle\rangle$  be the **R**-algebra of noncommutative formal series on A(d). Let  $M^l(d)$  be the set of all elements of  $\mathbf{R}\langle A(d) \rangle$  homogeneous of order  $l \in \mathbf{N}$ . Let  $j_l(d)$  be the canonical projection from  $\mathbf{R}\langle\langle A(d) \rangle\rangle$  to

 $M^{l}(d)$ . We define  $M_{\leq l}(d) := \bigoplus_{k=0}^{l} M^{k}(d)$ . Let  $j_{\leq l}(d)$  be the canonical projection from  $\mathbf{R}\langle\langle A(d)\rangle\rangle$  to  $M_{\leq l}(d)$ . For  $x \in \mathbf{R}\langle\langle A(d)\rangle\rangle$ , let us define  $\exp(x)$  by

$$\exp(x) := \sum_{k=0}^{\infty} \frac{x^k}{k!}.$$

For  $x \in \prod_{k>0} M^k(d)$ , let us define  $\log(1+x)$  by

$$\log(1+x) := \sum_{k=1}^{\infty} \frac{(-1)^{k-1}}{k} x^k.$$

When  $j_{\leq l}(d)(x-y) = 0$  for  $x, y \in \mathbf{R}\langle\langle A(d) \rangle\rangle$ , we write  $x \stackrel{l}{=} y$ .

**Definition 2.2.** For  $t \in \mathbf{R}$ ,  $\theta \in \mathbf{N}$ , we define the following elements of  $\mathbf{R}\langle\langle A(d)\rangle\rangle$ :

$$\begin{split} \hat{P}_t(d) &:= \exp\left(t\sum_{i=0}^d A_i\right),\\ \hat{Q}_t^{(i)} &:= \exp\left(tA_i\right), i \in \{0, \dots, d\},\\ \bar{Q}_{(t)}^{[\theta]}(d) &:= \left(\prod_{i=0}^d \hat{Q}_{t/\theta}^{(i)}\right)^{\theta},\\ \check{Q}_{(t)}^{[\theta]}(d) &:= \left(\prod_{i=0}^d \hat{Q}_{t/\theta}^{(i)}\right)^{\theta},\\ \hat{Q}_{(t)}^{[\theta]}(d) &:= \frac{1}{2}\left(\bar{Q}_{(t)}^{[\theta]}(d) + \check{Q}_{(t)}^{[\theta]}(d)\right). \end{split}$$

We shall occasionally omit the d from the notation. When t = 1, we shall furthermore omit the subscript t. For  $U, V \in \prod_{k>0} M^k$  and  $l \in \mathbf{N}$ , we define  $H_l(U, V) := j_l(\log(\exp(U)\exp(V)))$ . Here  $\tau_{i,d}$ , which we shall occasionally abbreviate as  $\tau_i$ , denotes  $j_i(d)(\log(\bar{Q}^{[1]}(d)))$ .

Lemma 2.1. We have

$$\log\left(\check{Q}^{[1]}(d)\right) = \sum_{i=1}^{\infty} (-1)^{i+1} \tau_{i,d}.$$

*Proof.* Proof by induction on d. We prove the case d = 2 by using Lemma 2.15.3 in [14] and induction on i. Suppose d > 2. It is sufficient then that we prove  $j_l(\log(\check{Q}^{[1]}(d))) = (-1)^{l+1}\tau_{l,d}$  for  $l \in \mathbf{N}$ . Let  $p \in \mathbf{N}$ , and  $\{r_i\}_{i \in \{1,\ldots,p\}}$ ,  $\{s_i\}_{i \in \{1,\ldots,p\}} \subset \mathbf{N}$ . Let us define a map  $H : \mathbf{R}\langle\langle A \rangle\rangle \times \mathbf{R}\langle\langle A \rangle\rangle \to \mathbf{R}\langle\langle A \rangle\rangle$  by

$$H(U,V) := U^{r_1}V^{s_1}\cdots U^{r_p}V^{s_p}.$$

We have

$$j_l\left(H\left(A_d, \sum_{i=1}^{l} (-1)^{i+1} \tau_{i,d-1}\right)\right) = (-1)^{\sum_{i=1}^{p} s_i + l - \sum_{i=1}^{p} r_i} j_l\left(H\left(A_d, \sum_{i=1}^{l} \tau_{i,d-1}\right)\right)$$

By the inductive hypothesis we also have

$$\log\left(\check{Q}^{[1]}(d-1)\right) = \sum_{i=1}^{\infty} (-1)^{i+1} \tau_{i,d-1}$$

Then

$$j_{l} \left( \log \left( \check{Q}^{[1]}(d) \right) \right) = j_{l} \left( \log \left( \exp(A_{d}) \exp \left( \log \left( \check{Q}^{[1]}(d-1) \right) \right) \right) \right)$$
$$= \sum_{m=1}^{l} j_{l} \left( H_{m} \left( A_{d}, \sum_{i=1}^{l} (-1)^{i+1} \tau_{i,d-1} \right) \right)$$
$$= \sum_{m=1}^{l} (-1)^{m+l} j_{l} \left( H_{m} \left( A_{d}, \sum_{i=1}^{l} \tau_{i,d-1} \right) \right)$$
$$= (-1)^{l+1} \sum_{m=1}^{l} j_{l} \left( H_{m} \left( \sum_{i=1}^{l} \tau_{i,d-1}, A_{d} \right) \right)$$
$$= (-1)^{l+1} \tau_{l,d}.$$

**Proposition 2.2.** For  $i, d \in \mathbf{N}$ , there exists  $c_{i,d} \in \prod_{k=2i+1}^{\infty} M^k(d)$  such that for all  $\theta \in \mathbf{N}$ ,

$$\hat{Q}^{[\theta]}(d) = \hat{P}(d) + \sum_{i=1}^{\infty} \frac{c_{i,d}}{\theta^{2i}}.$$

*Proof.* We have

$$\log \bar{Q}^{[\theta]}(d) = \log \left( \bar{Q}^{[1]}_{1/\theta}(d) \right)^{\theta} = \sum_{i=1}^{\infty} \frac{1}{\theta^{i-1}} \tau_{i,d}.$$

Moreover by Lemma 2.1,

$$\log \check{Q}^{[\theta]}(d) = \sum_{i=1}^{\infty} \frac{1}{(-\theta)^{i-1}} \tau_{i,d}.$$

Then we have

$$\hat{Q}^{[\theta]}(d) = \frac{1}{2} \left( \sum_{k=0}^{\infty} \frac{1}{k!} \left( \sum_{i=1}^{\infty} \frac{1}{\theta^{i-1}} \tau_{i,d} \right)^k + \sum_{k=0}^{\infty} \frac{1}{k!} \left( \sum_{i=1}^{\infty} \frac{1}{(-\theta)^{i-1}} \tau_{i,d} \right)^k \right),$$

giving the assertion, since  $\tau_{1,d} = \sum_{i=0}^{d} A_i$ .

The following corollary is straightforward.

# Corollary 2.3. We have

(2.1) 
$$\hat{P} \stackrel{2}{=} \hat{Q}^{[\theta]}, \ \theta \in \mathbf{N},$$

(2.2) 
$$\hat{Q}^{[2]} - \frac{1}{4}\hat{Q}^{[1]} + \frac{3}{4}\hat{P} \stackrel{4}{=} 0,$$

(2.3) 
$$\hat{Q}^{[3]} - \frac{1}{9}\hat{Q}^{[1]} + \frac{8}{9}\hat{P} \stackrel{4}{=} 0$$

(2.4) 
$$\hat{P} \stackrel{6}{=} \frac{81}{40} \hat{Q}^{[3]} - \frac{16}{15} \hat{Q}^{[2]} + \frac{1}{24} \hat{Q}^{[1]}.$$

## 3. Approximations of operators

**Definition 3.1.** (1) Let us define a semi-norm  $\|\cdot\|_k$  for  $k \in \mathbf{N}$  on  $C_b^{\infty}(\mathbf{R}^d)$  by

$$\|g\|_k := \sup_{i \le k} \|\nabla^i g\|_{\infty}.$$

(2) Let  $\mathfrak{B}_k$  denote the space of bounded linear operators on  $C_k := (C_b^{\infty}(\mathbf{R}^d), \|\cdot\|_k)$ . We can regard  $\mathfrak{B}_k$  as a normed space with the operator norm.

The following proposition is well-known [4].

**Proposition 3.1.** (1) The family  $\{P_t\}_{t \in (0,\infty]}$  is a uniform bounded subset of  $\mathfrak{B}_k$ . (2) We have  $\|P_tg\|_{\infty} \leq \|g\|_{\infty}$  for  $g \in C_b^{\infty}(\mathbf{R}^d)$ . (3) Let  $\mathcal{A}$  be the differential operator defined by

$$\mathcal{A} := V_0 + \frac{1}{2} \sum_{j=1}^d V_j^2.$$

For  $g \in C_b^{\infty}(\mathbf{R}^d)$ ,

$$P_t g(x) = \sum_{k=0}^N \frac{t^k}{k!} \mathcal{A}^k + \frac{1}{N!} \int_0^t (t-s)^N P_s \mathcal{A}^{N+1} g(x) ds.$$

For  $i \in \{0, \ldots, d\}$ , we consider a Stratonovich stochastic differential equation

$$\begin{cases} dX^{i}(t,x) = V_{i}(X^{i}(t,x)) \circ dB_{t}^{i}, \\ X(0,x) = x. \end{cases}$$

For  $s \ge 0$ , let us define a operator  $Q_s^{(i)}$  on  $L_{\infty}(\mathbf{R}^N)$  by

$$Q_s^{(i)}(g)(x) := E[g(X^i(s, x))], \ x \in \mathbf{R}^N$$

We set

$$f_1 := \frac{1}{24}, \ f_2 := -\frac{16}{15} \text{ and } f_3 := \frac{81}{40}.$$

For  $\theta \in \{1, 2, 3\}$  and  $t \ge 0$ , let

$$\tilde{Q}_{(t)}^{[\theta]} := \frac{1}{2} \left( \left( \prod_{i=0}^{\widehat{d}} Q_{t/\theta}^{(i)} \right)^{\theta} + \left( \prod_{i=0}^{\widehat{d}} Q_{t/\theta}^{(i)} \right)^{\theta} \right).$$

Also, define operators

$$Q_{(n)} := f_3 \left( \tilde{Q}_{(T/n)}^{[3]} \right)^n + f_2 \left( \tilde{Q}_{(T/n)}^{[2]} \right)^n + f_1 \left( \tilde{Q}_{(T/n)}^{[1]} \right)^n$$

and

$$Q_{(n,1)} := f_3 \tilde{Q}_{(T/n)}^{[3]} + f_2 \tilde{Q}_{(T/n)}^{[2]} + f_1 \tilde{Q}_{(T/n)}^{[1]}.$$

**Theorem 3.2.** There exists a constant C > 0 such that

$$\left\| (P_T - Q_{(n)})g \right\|_{\infty} \le \frac{C}{n^6} \|g\|_{54(d+1)}$$

for any  $g \in C_b^{\infty}(\mathbf{R}^N)$  and  $n \in \mathbf{N}$ . Proof. Let s := T/n. Then

$$\begin{aligned} (Q_{(n)} - P_T)g(x) &= \sum_{\theta \in \{1,2,3\}} f_{\theta} \left( \left( \tilde{Q}_{(s)}^{[\theta]} \right)^n - P_T \right) g(x) \\ &= \sum_{\theta \in \{1,2,3\}} f_{\theta} \sum_{k=0}^{n-1} P_{ks} \left( \tilde{Q}_{(s)}^{[\theta]} - P_s \right) P_{(n-k-1)s} g(x) \\ &+ \sum_{\theta \in \{1,2,3\}} f_{\theta} \sum_{k=1}^{n-1} \sum_{l=0}^{k-1} P_{ls} \left( \tilde{Q}_{(s)}^{[\theta]} - P_s \right) P_{(k-l-1)s} \left( \tilde{Q}_{(s)}^{[\theta]} - P_s \right) P_{(n-k-1)s} g(x) \\ &+ \sum_{\theta \in \{1,2,3\}} f_{\theta} \sum_{k=1}^{n-1} \sum_{l=1}^{k-1} \sum_{m=1}^{l-1} (\tilde{Q}_{(s)}^{[\theta]})^m \left( \tilde{Q}_{(s)}^{[\theta]} - P_s \right) P_{(l-m-1)s} \left( \tilde{Q}_{(s)}^{[\theta]} - P_s \right) \\ &\times P_{(k-l-1)s} \left( \tilde{Q}_{(s)}^{[\theta]} - P_s \right) P_{(n-k-1)s} g(x). \end{aligned}$$

The first term on the right-hand side of this equality becomes

$$\sum_{k=0}^{n-1} P_{ks} \left( Q_{(n,1)} - P_s \right) P_{(n-k-1)s} g(x).$$

By (2.4) and Proposition 3.1, there exists a constant  $C_1 > 0$  such that

$$\left\|\sum_{k=0}^{n-1} P_{ks} \left(Q_{(n,1)} - P_s\right) P_{(n-k-1)s}g\right\|_{\infty} \le \frac{C_1}{n^6} \|g\|_{42(d+1)}$$

for any  $n \in \mathbf{N}$ . Similarly as the third term on the right-hand side, there exists a constant  $C_2 > 0$  such that

$$\left\| \sum_{\theta \in \{1,2,3\}} f_{\theta} \sum_{k=1}^{n-1} \sum_{l=1}^{k-1} \sum_{m=1}^{l-1} (\tilde{Q}_{(s)}^{[\theta]})^m \left( \tilde{Q}_{(s)}^{[\theta]} - P_s \right) P_{(l-m-1)s} \left( \tilde{Q}_{(s)}^{[\theta]} - P_s \right) \right. \\ \left. \times \left. P_{(k-l-1)s} \left( \tilde{Q}_{(s)}^{[\theta]} - P_s \right) P_{(n-k-1)s} g \right\|_{\infty} \le \frac{C_2}{n^6} \|g\|_{54(d+1)}$$

by (2.1) and Proposition 3.1. Finally we consider the second term on the right-hand side. By (2.1), (2.2) and Proposition 3.1, there exists a constant  $C_3 > 0$  such that

$$\begin{split} & \left\| \sum_{k=1}^{n-1} \sum_{l=0}^{k-1} P_{ls} \left( \tilde{Q}_{(s)}^{[2]} - P_{s} \right) P_{(k-l-1)s} \left( \tilde{Q}_{(s)}^{[2]} - P_{s} \right) P_{(n-k-1)s} g \right\|_{\infty} \\ & - \frac{1}{16} \sum_{k=1}^{n-1} \sum_{l=0}^{k-1} P_{ls} \left( \tilde{Q}_{(s)}^{[1]} - P_{s} \right) P_{(k-l-1)s} \left( \tilde{Q}_{(s)}^{[1]} - P_{s} \right) P_{(n-k-1)s} g \right\|_{\infty} \\ & = \left\| \sum_{k=1}^{n-1} \sum_{l=0}^{k-1} P_{ls} \left( \tilde{Q}_{(s)}^{[2]} - \frac{1}{4} \tilde{Q}_{(s)}^{[1]} + \frac{3}{4} P_{s} \right) P_{(k-l-1)s} \left( \tilde{Q}_{(s)}^{[2]} - P_{s} \right) P_{(n-k-1)s} g \right\|_{\infty} \\ & + \sum_{k=1}^{n-1} \sum_{l=0}^{k-1} P_{ls} \left( \tilde{Q}_{(s)}^{[1]} - P_{s} \right) P_{(k-l-1)s} \left( \tilde{Q}_{(s)}^{[2]} - \frac{1}{4} \tilde{Q}_{(s)}^{[1]} + \frac{3}{4} P_{s} \right) P_{(n-k-1)s} g \right\|_{\infty} \\ & \leq \frac{C_{3}}{n^{6}} \|g\|_{32(d+1)}. \end{split}$$

Similarly by (2.1), (2.3) and Proposition 3.1, there exists a constant  $C_4 > 0$  such that

$$\left\| \sum_{k=1}^{n-1} \sum_{l=0}^{k-1} P_{ls} \left( \tilde{Q}_{(s)}^{[3]} - P_s \right) P_{(k-l-1)s} \left( \tilde{Q}_{(s)}^{[3]} - P_s \right) P_{(n-k-1)s}g - \frac{1}{81} \sum_{k=1}^{n-1} \sum_{l=0}^{k-1} P_{ls} \left( \tilde{Q}_{(s)}^{[1]} - P_s \right) P_{(k-l-1)s} \left( \tilde{Q}_{(s)}^{[1]} - P_s \right) P_{(n-k-1)s}g \right\|_{\infty} \le \frac{C_4}{n^6} \|g\|_{48(d+1)}.$$

Hence there exists a constant  $C_5 > 0$  such that

$$\left\|\sum_{\theta \in \{1,2,3\}} f_{\theta} \sum_{k=1}^{n-1} \sum_{l=0}^{k-1} P_{ls} \left( \tilde{Q}_{(s)}^{[\theta]} - P_s \right) P_{(k-l-1)s} \left( \tilde{Q}_{(s)}^{[\theta]} - P_s \right) P_{(n-k-1)s} g \right\|_{\infty} \le \frac{C_5}{n^6} \|g\|_{48(d+1)}.$$

Then we have our assertion.

## 4. Implementation of the approximation operators

We regard a vector space  $C_b^{\infty}(\mathbf{R}^N; \mathbf{R}^N)$  as a noncommutative algebra with multiplication given by conposition and follow the notation of Section 2.

For a vector field  $W \in C_b^{\infty}(\mathbf{R}^N; \mathbf{R}^N)$ , let y(t, x) be the solution of the ordinary differential equation

(4.1) 
$$\begin{cases} \frac{d}{dt}y(t,x) = W(y(t,x))\\ y(0,x) = x. \end{cases}$$

We define  $\operatorname{Exp}(W)(x) := y(1, x)$ .

Let s := T/n and  $\theta \in \{1, 2, 3\}$ . Let  $\{\Lambda_k\}_{k \in \{1, \dots, n\}}$  and  $\{Z_k\}_{k \in \{1, \dots, \theta n\}}$  be independent random variables, where each  $\Lambda_k$  is Bernoulli random variable and  $Z_k = (Z_k^i)_{i \in \{1, \dots, d\}}$ is a standard *d*-dimensional normal random variable. Let  $x_0 \in \mathbf{R}^N$ ,  $\tilde{Z}_{k,\theta}^{0,n} := s/\theta$  and  $\tilde{Z}_{k,\theta}^{i,n} := \sqrt{s/\theta} Z_k^i$  for  $i \in \{1, \dots, d\}$ . Then we inductively define  $\{X_k^{[\theta],n}\}_{k \in \{0,\dots,n\}}$  by

$$X_{0}^{\left[\theta\right],n} := x_{0},$$

$$X_{k+1}^{\left[\theta\right],n} := \begin{cases} \left(\prod_{i=0}^{\alpha} \operatorname{Exp}\left(\tilde{Z}_{k,\theta}^{i,n}V_{i}\right)\right)^{\theta} \left(X_{k}^{\left[\theta\right],n}\right) & \text{if } \Lambda_{k} = +1, \\ \left(\prod_{i=0}^{\alpha} \operatorname{Exp}\left(\tilde{Z}_{k,\theta}^{i,n}V_{i}\right)\right)^{\theta} \left(X_{k}^{\left[\theta\right],n}\right) & \text{if } \Lambda_{k} = -1. \end{cases}$$

Then by a routine computation we obtain:

**Proposition 4.1.** For  $g \in C_b^{\infty}(\mathbf{R}^N)$  and  $\theta \in \{1, 2, 3\}$ ,

$$\left(\tilde{Q}_{(T/n)}^{[\theta]}\right)^n g(x_0) = E\left[g\left(X_n^{[\theta],n}\right)\right].$$

Remark 4.1. To calculate  $E\left[g\left(X_n^{[\theta],n}\right)\right]$  numerically using Proposition 4.1, we need to approximate an integral over a finite-dimensional space. Such numerical integrations are rapidly performed using the quasi-Monte-Carlo method [13]. From Proposition 4.1, it appears we need a 3(d+1)n-dimensional uniform random variable. However, we can calculate  $Q_ng(x)$  by 3dn + 1-dimensional integrations if we implement *n*-dimensional Bernoulli random variables by a one-dimensional uniform random variable.

Remark 4.2. Let  $\breve{Q}_t^{(0)}$ ,  $\breve{Q}_t^{(d+1)} := Q_{t/2}^{(0)}$  and  $\breve{Q}_t^{(i)} := Q_t^{(i)}$  for  $i \in \{1, \dots, d\}$ . Now define

$$\begin{split} \breve{Q}_{(t)}^{[1]} &:= \frac{1}{2} \left( \prod_{i=0}^{d+1} \breve{Q}_{t}^{(i)} + \prod_{i=0}^{d+1} \breve{Q}_{t}^{(i)} \right) \\ &= \frac{1}{2} Q_{t/2}^{(0)} \left( \prod_{i=1}^{d} Q_{t}^{(i)} + \prod_{i=1}^{d} Q_{t}^{(i)} \right) Q_{t/2}^{(0)}, \\ \breve{Q}_{(t)}^{[2]} &:= \frac{1}{2} \left( \left( \prod_{i=0}^{d+1} \breve{Q}_{t/2}^{(i)} \right)^{2} + \left( \prod_{i=0}^{d+1} \breve{Q}_{t/2}^{(i)} \right)^{2} \right) \\ &= \frac{1}{2} Q_{t/4}^{(0)} \left( \prod_{i=1}^{d} Q_{t/2}^{(i)} \prod_{i=0}^{d} Q_{t/2}^{(i)} + \prod_{i=0}^{d} Q_{t/2}^{(i)} \prod_{i=1}^{d} Q_{t/2}^{(i)} \right) Q_{t/4}^{(0)}, \\ \breve{Q}_{(t)}^{[3]} &:= \frac{1}{2} \left( \left( \prod_{i=0}^{d+1} \breve{Q}_{t/3}^{(i)} \right)^{3} + \left( \prod_{i=0}^{d+1} \breve{Q}_{t/3}^{(i)} \right)^{3} \right) \\ &= \frac{1}{2} Q_{t/6}^{(0)} \left( \prod_{i=1}^{d} Q_{t/3}^{(i)} \prod_{i=0}^{d} Q_{t/3}^{(i)} \prod_{i=0}^{d} Q_{t/3}^{(i)} + \prod_{i=0}^{d} Q_{t/3}^{(i)} \prod_{i=0}^{d} Q_{t/3}^{(i)} \prod_{i=1}^{d} Q_{t/3}^{(i)} \right) Q_{t/6}^{(i)}, \\ \breve{Q}_{(n)} &:= f_{3} \left( \breve{Q}_{(T/n)}^{[3]} \right)^{n} + f_{2} \left( \breve{Q}_{(T/n)}^{[2]} \right)^{n} . \end{split}$$

Then similarly as before

$$\left\| (\breve{Q}_{(n)} - P_T)g \right\|_{\infty} \le \frac{C}{n^6} \|g\|_{54(d+1)+18}$$

and

$$\left\| (\breve{Q}'_{(n)} - P_T)g \right\|_{\infty} \le \frac{C}{n^4} \|g\|_{24(d+1)+12}.$$

Using  $\{\breve{Q}_{(n)}\}_{n\in\mathbb{N}}$  or  $\{\breve{Q}'_{(n)}\}_{n\in\mathbb{N}}$  instead of  $\{Q_{(n)}\}_{n\in\mathbb{N}}$  in order to approximate  $P_T$  may be better from a practical point of view.

*Remark* 4.3. For the purpose of constructing the approximate operators, a good approximate solution to the ODE (4.1) will suffice. For example, we could use a 13-th order Runge-Kutta scheme [1].

Remark 4.4. One could also show the convergence of the algorithm when  $g \in L_{\infty}(\mathbf{R}^N)$ and the vector fields of the SDEs satisfy a condition that is weaker than the Hörmander condition [7, 8, 9]. *Remark* 4.5. We also showed the convergence of the algorithms when the SDEs are jump-type in [3].

## Acknowledgements

I wish to thank my thesis advisor Professor Shigeo Kusuoka for his guidance. I am also grateful to Professor Shoiti Ninomiya for his advice about some numerical calculations.

## References

- Butcher, J. C., The numerical analysis of ordinary differential equations (John Wiley & Sons, Chichester, 1987).
- [2] Clement, E., Kohatsu-Higa, A. and Lamberton, D., A duality approach for the weak approximations of stochastic differential equations. To appear in Annal. Appl. Prob. 2006.
- [3] Fujiwara, T., Approximations of expectations of jump-diffusion processes, Master's thesis, Univ. Tokyo (2006).
- [4] Ikeda, N. and Watanabe, S., Stochastic differential equations and diffusion processes (North-Holland Publishing Co., Amsterdam; Kodansha, Tokyo, 1981).
- [5] Kloeden, P. E. and Platen, E., Numerical solution of stochastic differential equations (Springer-Verlag, Berlin, 1992).
- [6] Kohatsu-Higa, A. Weak approximations. A Malliavin calculus approach. Math Comp. 233(2001), 135–172.
- [7] Kusuoka, S., Approximation of expectation of diffusion process and mathematical finance, Taniguchi Conf. on Math. Nara '98, Advanced Studies in Pure Mathematics 31, Japan Math. Soc. Tokyo, 2001, 147-165.
- [8] Kusuoka, S., Approximation of expectation of diffusion processes based on Lie algebra and Malliavin calculus, Adv. Math. Econ. 6 (2004), 69–83.
- [9] Kusuoka, S. Malliavin calculus revisited, J. Math. Sci. Univ. Tokyo 10 (2003), 261-277.
- [10] Lyons, T., and Victoir, N., Cubature on Wiener space, Proc. R. Soc. Lond. Ser. A Math. Phys. Eng. Sci. 460 (2004), 169–198.
- [11] Ninomiya, S. and Victoir, N., Weak Approximation of stochastic differential equations and application to deribative pricing, preprint.
- [12] Ninomiya, S., A new simulation scheme of diffusion processes: application of the Kusuoka approximation to finance problems. Math. Comput. Simulation 62 (2003), 479–486.
- [13] Ninomiya, S and Tezuka, S., Toward real-time pricing of complex financial derivatives, Applied. Mathematical Finance 3 (1996), 1–20.
- [14] Varadarajan, V. S., Lie groups, Lie algebras, and their representations (Springer-Verlag, New York, 1984).

Preprint Series, Graduate School of Mathematical Sciences, The University of Tokyo

UTMS

- 2005–44 Victor Isakov, Jenn-Nan Wang and Masahiro Yamamoto: Uniqueness and stability of determining the residual stress by one measurement.
- 2005–45 Yoshihiro Sawano and Hitoshi Tanaka: The John-Nirenberg type inequality for non-doubling measures.
- 2005–46 Li Shumin and Masahiro Yamamoto: An inverse problem for Maxwell's equations in anisotropic media.
- 2005–47 Li Shumin: Estimation of coefficients in a hyperbolic equation with impulsive inputs.
- 2005–48 Mourad Bellassoued and Masahiro Yamamoto: Lipschitz stability in determining density and two Lamé coefficients.
- 2006–1 Takao Satoh: Twisted second homology groups of the automorphism group of a free group.
- 2006–2 Matthias M. Eller and Masahiro Yamamoto: A Carleman inequality for the stationary anisotropic Maxwell system.
- 2006–3 Mourad Choulli, Oleg Yu. Imanuvilov and Masahiro Yamamoto: Inverse source problem for the Navier-Stokes equations.
- 2006–4 Takashi Taniguchi: Distributions of discriminants of cubic algebras.
- 2006–5 Jin Cheng, Yanbo Wang and Masahiro Yamamoto: Regularity of the Tikhonov regularized solutions and the exact solution.
- 2006–6 Keiichi Gunji: The dimension of the space of siegel Eisenstein series of weight one.
- 2006–7 Takehiro Fujiwara: Sixth order methods of Kusuoka approximation.

The Graduate School of Mathematical Sciences was established in the University of Tokyo in April, 1992. Formerly there were two departments of mathematics in the University of Tokyo: one in the Faculty of Science and the other in the College of Arts and Sciences. All faculty members of these two departments have moved to the new graduate school, as well as several members of the Department of Pure and Applied Sciences in the College of Arts and Sciences. In January, 1993, the preprint series of the former two departments of mathematics were unified as the Preprint Series of the Graduate School of Mathematical Sciences, The University of Tokyo. For the information about the preprint series, please write to the preprint series office.

# ADDRESS:

Graduate School of Mathematical Sciences, The University of Tokyo 3–8–1 Komaba Meguro-ku, Tokyo 153-8914, JAPAN TEL +81-3-5465-7001 FAX +81-3-5465-7012